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1、 文法選擇 15%
1. ____ where the restaurant was, Peter turned to the police station for help.

(A) Knowing



(B) Not to know


(C) Not knowing



(D) Known
2. If Joanna had not stayed up late last night, she ____ at school on time this morning.

(A) might arrive


(B) might have arrived

(C) may arrive
 



(D) may have arrived
3. No matter ____ wonderful this job may sound, it is quite tough. 
(A) how




(B) what




(C) which




(D) whether
4. ____ by her boyfriend, Jenny made up her mind to break up with him.

(A) Cheating



(B)Cheated



(C) Cheat





(D) To cheat
5. After ____ fertilizer to the land, the farmer ended up having a harvest.

(A) he giving



(B) given




(C) gave





(D) giving
6. It was quite dangerous that you ran through the red light. This behavior ____ a car crash.

(A) could cause


(B) could have caused

(C)
should cause



(D) should have caused
7. Ice-cream tasters are said to have the world’s “sweetest” job.  They travel around the country, _____ ice cream in supermarkets for free.
(A) sample



(B) sampling



(C) samples




(D) sampled 
8. The thought ____ he should take care of his old parents caused Andy to work in his home country.
(A) which



(B) what




(C) when





(D) that 
9. My father, ____ in a factory, always returns home very late at night.

(A) working



(B) works



(C) worked




(D) that works
10. My sister ____ up very early in the morning, but now she is no longer in the habit.

(A) used to get



(B) is used to getting

(C) is used to get



(D) used to getting
11. No matter ____ the ice cream tastes like, they spit it out, since a full stomach will affect their palate. 
(A) how




(B) when




(C) where




(D) what 
12. Students in this college have decreased ____ number in recent ten years due to the low birthrate.

(A) for




(B) of




(C) in





(D) on
13. The scientist had destroyed many ____ models before he came up with the new invention.

(A) half-finishing


(B) half-finished


(C) finished-half



(D) finishing-half
14. John Harrison usually has a cup of caffeine-free herbal tea for breakfast ________ caffeine will not block his taste buds. 
(A) so as to



(B) in order that


(C) so that




(D) as for 
15. George and Henry are in the classroom, ____ about their favorite TV programs.

(A) to talk



(B) talked



(C) talking




(D) talk
2、 綜合測驗 15%   
__16__​​ a Special Mention at a film festival, the animation Farewell features a polar bear saying goodbye to the Earth on a melting iceberg.  As the film shows, the number of polar bears is decreasing at a fast pace.  __17__ fewer places to live, polar bears might be gone forever in the future.  It is global warming that leads to the loss of polar bears’ sea-ice home, and thus puts 
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them __18__ extinction.  As for the cause of global warming, we human beings are to blame.  The earth is heating up due to our burning of fossil fuels.  This burning produces carbon dioxide, a greenhouse gas that absorbs heat.

Some people may wonder __19__ we human beings will become victim to this fatal change.  Unfortunately, the answer is yes.  With the planet __20__, the ice in the North Pole and the South Pole has begun to melt __21__ worldwide sea levels to rice.  Small islands and low-lying areas could soon be underwater if the situation get any worse.  The residents of several big cities such as London, shanghai, and Taipei __22__ have nowhere to live by the end of this century.  People and governments should try to deal with this issue before it is too late, or else the future of people around the world will be in danger.  
16. (A) Awarding


(B) Awards


(C) Award


(D) Awarded

17. (A) Had



(B) Haves


(C) Having


(D) They have 

18. (A) at risk of


(B) as a result of

(C) due to


(D) aside from
19. (A) which



(B) whether


(C) that



(D) what
20. (A) got warmer


(B) gets warmer

(C) getting warmer

(D) have gotten warmer

21. (A) which
causes

(B) ,which causes

(C) that causes


(D) , caused 
22. (A) are likely to


(B) are possible to

(C) are exclusive to

(D) are grateful to


Frankensein by Mary shelly __23__ the first work of science fiction.  Ever since it was published, it __24__ a large number of readers.  If she had not written this novel, many popular sci-fi characters __25__.  The hero of the novel, Victor Frankenstein, found out a secret of the creation of life.  He decided to create a human being.  __26__ this expectations, however, he was only able to use it to create a giant, frightening monster.  He was so upset that he left the monster behind and ran away.  __27__ the world alone, the monster was not welcome anywhere because of his terrible appearance.  Frankenstein originally promised to make a female creature for the monster.  However, Frankenstein broke this promise.  The monster became so angry that he hilled Frankenstein’s wife and his best friend __28__.  __29__ the monster from killing any more people, Frankenstein followed him to the North Pole.  Sadly, he died from the cold before he could find the monster. __30__ that Frankenstein had died, the monster left and was never seen again.  Frankenstein, who was responsible for creating the monster, may actually have been the real monster himself.  
23. (A) refers as 


(B) is referred to


(C) is referred as


(D) is referred to as

24. (A) was appealed to

(B) should have appealed to
(C) has appealed to


(D) has been appealed to 

25. (A) might not have been created




(B) might not be created

   (C) might have been created





(D) might be created

26. (A) Out of



(B) Contrary to


(C) In addition to


(D) Based on 
27. (A) To wander


(B) When wandering

(C) Wandered



(D) Having wandered
28. (A) in horror


(B) with hesitation


(C) in revenge



(D) with ease
29. (A) To prevent


(B) Preventing



(C) As preventing


(D) Prevented
30. (A) To discover


(B) The monster discovered
(C) After discovered

(D) After discovering 

3、 文意選填 14% 
The word “scapegoat” is a term that may come across as confusing. It did once have something to do with goats, but it now refers to someone who is __31__ blamed for the bad deeds of others. But what, you might wonder, would a goat have to do with blame?

The word “scapegoat” was actually invented by a Christian scholar and biblical ___32__ named William Tyndale in 1530. One of the passages Tyndale translated describes an ancient Hebrew ceremony __33__ which a high priest would place his hands 
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on the head of a goat and __34__ his people’s sins. According to tradition, the act would transfer the sins to the animal, which was then let loose into the wild, taking the __35__ of the people’s sins with it. In Tyndale’s reading of the passage, one Hebrew term was translated to “the goat that escapes.” Based on this reading, Tyndale created the English term “scapegoat,” which became a common __36__.

Many scholars have disagreed with Tyndale’s translation, and other translations have been proposed. Nevertheless, the modern meaning of “scapegoat,” based on Tyndale’s work, is one __37__ which the word has never escaped.

(A)
 translator
 
(B) irrationally  
(C) from

(D) metaphor

(E) burden

(AB) in 

(AC) confess 

4、 閱讀測驗 16 % 

The idea of global warming was first introduced in the 1800s and has raised questions ever since. In 1997, the United Nations worked out a plan in Kyoto, Japan that tried to find answers to these questions. Eight years later the Kyoto Protocol was put into effect.

    The Kyoto Protocol calls for the lowering of greenhouse gases, the main cause of global warming. Under the plan, each country is given a limit on the greenhouse gases it may produce. If a country predicts that it will go over its limit, this country may buy the right to produce more greenhouse gases from a country that is under its limit.

    Unfortunately, the Kyoto Protocol has not had a big effect on global warming. For one thing, the United States and Australia, two big greenhouse gas producers, choose not to follow it. Moreover, developing countries, like Mainland China and India, are not included at all. Additionally, it has no power to make sure countries follow the rules. Finally, some say that the greenhouse gas cuts called for in the Kyoto Protocol are too small, so even if every country does follow it, it will still not do enough to end global warming.

    The Kyoto Protocol, while not perfect, needs every country’s help to be successful. So perhaps until governments around the world agree to take action, the problem of global warming will continue to cause concern.

38. According to the passage, what is the purpose of the Kyoto Protocol?
(A) To reduce greenhouse gases produced by setting a limit to each country.
(B) To persuade Japan to buy the right to produce more greenhouse gases.
(C) To make profits for both developed and developing countries.
(D) To correctly measure the amount of carbon dioxide in the atmosphere.

39. According to the passage, which of the following country does NOT follow the Kyoto Protocol?

(A) Japan. 

(B) America. 


(C) Mainland China. 

(D) India.

40. According to the passage, which of the following is NOT the reason why the Kyoto Protocol fails?
(A) The main greenhouse gas producers do not follow the rules.
(B) Some countries are not under the regulation of the Kyoto Protocol.
(C) The greenhouse gas cuts required in the Kyoto Protocol are too small.
(D) The United Nations did not support the Kyoto Protocol.

41. What is the tone of the author?
(A) Worried. 

(B) Confident. 

(C) Pleased. 



(D) Critical.

The novel Frankenstein was published in 1831. Written during the Industrial Revolution, a time that many believed advances in science and the development of new technologies would make the world a better place. In this book, the author, Mary Shelley, pointed out the dangers and disadvantages of new technologies and science. In the novel, the scientist Frankenstein makes a creature with new technology, but the creature becomes a monster, killing people. Eventually, Frankenstein dies, never understanding or getting back control of the monster he created.
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Though scientists today are still not able to bring the dead to life as Frankenstein did, they are now able to modify genes  and even clone living creatures. What’s more, doctors can reattach limbs that have been cut off, and even transplant organs from animals into humans.


However, some people say that scientists have not thought of the consequences of their actions. For example, it is now possible to create a new genetically modified watermelon that does not have seeds. But what effects will this type of fruit have on the people who eat it? Will it affect the animals that normally eat watermelon? And how will it change the earth’s ecosystem? Critics of genetically modified foods say that no one can answer these questions. They have also created a new term for these genetically engineered products—Frankenfoods.


Others say that transplanting animal organs into humans could lead to new diseases or other unexpected problems. In addition, cloning human beings could result in hundreds of unknown problems.


Though the novel Frankenstein was written more than 150 years ago, the questions and warnings it raises about the dangers of new technology are still very important today. One message is clear: the irresponsible use of technology can have unconsidered—and terrible—consequences.

42. Which statement is NOT true about the novel Frankenstein?
(A) It was written during the Industrial Revolution.
(B) The author of this novel is Mary Shelley.
(C) In the novel, the monster killed people and his creator as well. 
(D) The author wrote this novel to warn people of the dangers of new technologies.

43. Why do some critics call genetically engineered products Frankenfoods?

(A) The effects of these genetically engineered products on life forms and the ecosystem are still unknown.

(B) Legend has it that Frankenstein enjoyed eating these genetically modified foods.

(C) The book Frankenstein inspired scientists to produce genetically engineered foods.

(D) The genetically modified products look as huge and frightening as the monster in the book Frankenstein.

44. According to this passage, organ transplant may cause ____.
(A) depression 

(B) new diseases

 (C) Frankenfoods 

(D) drowsiness
45. What is the main idea of this passage?
(A) Promotion of genetically modified foods.

(B) The introduction of the novel Frankenstein.

(C) Concern about scientific advances.
(D) A report about new technological advances.

5、 文意字彙 20% 
46. The Barbie Doll had f___ted the little girl so much that she begged her mother to buy it for her. 
47. Most developed countries have low birth rates, but the world p_____n is growing on the whole. 
48. It is i____e that Steve can hold a casual conversation in Japanese.  He just started learning this language two weeks ago. 
49. During the Second World War, the Nazi officers were accused of deliberately s_____ing the prisoners. 
50. The government has made strict laws against drunk driving in the hope of preventing more t___dies from happening in the future. 
51. Though Tony had the m_____e of losing both legs in the car accident, he still looks on the bright side of life. 
52. It is e____ted that our sales will increase by 3%, but there’s no telling whether the difference will save our failing business. 
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53. In my class, the m___y of the students live in the same community, while only two of my classmates are from other towns.  
54. When you stay in a hotel, you must take care of your personal p______y, as the hotel will not be responsible for any loss or damage to it. 

55. The man who m____red his girlfriend and her family was finally caught by the police and sent to prison. 
六、句型改寫 12% (請依提示作答)  
56. Pepper asked her husband, “Did you deliver the package for me yesterday?” (請用if/whether 改寫為間接問句) 
57. Rocket asked Groot, “Will you go to Gamora’s birthday party?” (請用if/whether 改寫為間接問句)
58. The old man looked out the window, and he thought about his past. (請將對等子句改為分詞構句)
59. The girls stood in line to get into the concert hall and held their tickets in their hands. (請將對等子句改為分詞構句)
60. Because the window was broken by a baseball, it is in urgent need of repair. (請將副詞子句改為分詞構句)
61. Since you have made me suffer so long, you have to promise to make a female monster for me.

   (請將副詞子句改為分詞構句)
七、引導翻譯 8% 每格一分

62. Loki 總是把握每個機會學習。那就是為什麼他擁有如此成功的事業。
Loki always _______ _______ _______ to learn.  That’s why he has such a successful career.

63. 別對新朋友吐露心事。她/他可能沒有那麼在乎你。
Don’t ______ _______ your heart to a new friend. He/She probable doesn’t care that much about you.

64. 最初，Thor 下班後打算回家，但是後來他改變想法，去運動。
At first, Thor planned to go home after work, but then he ______ ________ ________.  He went exercising instead. 
八、加分題 10%  請寫出以下單字的中文意思，每對一題加一分
1. willingness (n)
2. accomplish (v) 

3. tolerate (v) 

4. entertainment (n)

5. impact (n)

6. ridiculous (a)

7. inspiring (a)

8. alternative (a)

9. delightful (a)

10. conclude (n) 
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非選擇題答案欄
                                 



                  班級:      座號:      姓名:            
五、文意字彙 20%
	46. 
	47.
	48.
	49.
	50.



	51.
	52.
	53.
	54.
	55.




六、句型改寫 12%
56. 
___________________________________________________________________________________________________

57.  __________________________________________________________________________________________________

58.  __________________________________________________________________________________________________
59.  __________________________________________________________________________________________________
60.  __________________________________________________________________________________________________
61.  __________________________________________________________________________________________________
七、翻譯題8%

62. ______________   _________________   _________________
63. ________________________   ______________________

64. ________________________   ______________________  ________________
八、加分題 10%  請寫出以下單字的中文意思，每對一題加一分
1. willingness (n) _______________
2. accomplish (v) _______________
3. tolerate (v) __________________
4. entertainment (n) ______________
5. impact (n) ___________________
6. ridiculous (a) _________________
7. inspiring (a) __________________
8. alternative (a) ________________
9. delightful (a) _________________
10. conclude (n) ________________
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選擇題 1~30 每題1分30%，31~45 每題2分30%
1~5.

CBABD
6~10.  
BDAAD


11~15.  
DCBBC

16~20. 
DCABC

21~25. 
BADCA

26~30. 
BBCAD

31~35. 
BA (AB) (AC) E

36~40. 
DCABD

41~45. 
ACABC
五、文意字彙 每題2分 20%
46. fascinated

47. population

48. incredible

49. starving

50. tragedies

51. misfortune

52. estimated

53. majority
54. property

55. murdered

六、句型改寫 12%

56. Pepper asked her husband if/whether he had delivered the package for her the day before.

57. Rocket asked Groot if/whether he would go to Gamora’s birthday party. 

58. The old man looked out the window, thinking about his past. 

59. The girls stood in line to get into the concert hall, holding their tickets in their hands.
60. Broken by a baseball, the window is in urgent need of repair. 
61. Having made me suffer for so long, you have to promise to make a female monster for me.
七、翻譯題8%

62. seizes   every    opportunity  

63. pour   out 
64. had   second   thoughts 
八、加分題 10%  請寫出以下單字的中文意思，每對1題加1分
1. willingness (n) 樂意，願意
2. accomplish (v) 實現，達成
3. tolerate (v) 容忍，忍受
4. entertainment (n) 娛樂
5. impact (n) 撞擊，碰撞
6. ridiculous (a) 可笑的，荒唐的
7. inspiring (a) 令人振奮的，鼓舞的
8. alternative (a) 另類的，非傳統的
9. delightful (a) 令人愉快的
10. conclude (n) 做出 … 結論，斷定
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